
Finding	
  Squares	
  –	
  City	
  Planning	
  (Part	
  2)	
  

Suppose	
  instead	
  that	
  the	
  city	
  planners	
  have	
  only	
  a	
  6	
  x	
  6	
  grid	
  space	
  to	
  work	
  with.	
  	
  	
  
• How	
  many	
  different	
  square-­‐shaped	
  parks	
  could	
  they	
  create	
  to	
  fit	
  within	
  the	
  grid?	
  
• What	
  would	
  the	
  area	
  of	
  each	
  park	
  be?	
  	
  	
  
	
  

	
   	
   	
   	
   	
  
	
  
	
  

	
   	
   	
   	
   	
  
	
  
	
  

	
   	
   	
   	
   	
  


